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Answers

1. 44.24204

2. 81.15300

3. 6.3756

4. 80.44712

5. 5.5

6. 18.3095

7. 37.5067

8. 32.4072

9. 29.43

10. 16.326

11. 59.4

12. 25.300

13. 85.0981

14. 3.1

15. 15.94

16. 22.10

17. 4.876

18. 16.632

19. 22.02106

Determine the placement of the decimal in each product.

5 . 8 0 9  ×  7 . 8  =  4 5 3 1 0 2

1. Count the quantity of numbers to the
right of the decimal for each factor.

5.809 has 3 numbers right of the
decimal (5.809)

7.8 has 1 number right of the decimal
(7.8)

2. Add the amounts together. Your answer
should have the same quantity of numbers to

the right of the decimal.

3 + 1 = 4
5.089 (3) × 7.8 (1) = 45.3102 (4)

Also notice that 5 × 7 = 35 and 6 × 8 = 48 , so 5.809 × 7.8 will be a more than 35 but less than
48.

1) 4.747 × 9.32 = 4 4 . 2 4 2 0 4

2) 8.52 × 9.525 = 8 1 . 1 5 3 0 0

3) 1.2 × 5.313 = 6 . 3 7 5 6

4) 9.763 × 8.24 = 8 0 . 4 4 7 1 2

5) 5 × 1.1 = 5 . 5

6) 3.329 × 5.5 = 1 8 . 3 0 9 5

7) 7.7 × 4.871 = 3 7 . 5 0 6 7

8) 5.144 × 6.3 = 3 2 . 4 0 7 2

9) 9.81 × 3 = 2 9 . 4 3

10) 9 × 1.814 = 1 6 . 3 2 6

11) 9 × 6.6 = 5 9 . 4

12) 9.2 × 2.75 = 2 5 . 3 0 0

13) 8.773 × 9.7 = 8 5 . 0 9 8 1

14) 1 × 3.1 = 3 . 1

15) 2 × 7.97 = 1 5 . 9 4

16) 5 × 4.42 = 2 2 . 1 0

17) 4.876 × 1 = 4 . 8 7 6

18) 4.4 × 3.78 = 1 6 . 6 3 2

19) 6.134 × 3.59 = 2 2 . 0 2 1 0 6
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